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Managenent _Station----------- Rout er _Source------------ Rout er _Dest
echo "###### Create the instance #######"

#H###H W' ve chosen 333 at random 333 will be the row instance to use for this particular
#i###H## ping experiment. After the ping, the row will be del eted.

#H#### This keeps the table clean. Router_Source is the dns nanme of the device we are

#i###H## working with, and public is its RWcomunity string. The values for

#i###H## ci scoPingEntryStatus status are as follows (see Ping M B): ###### 1 - active ###### 2 -
not I nServi ce ###### 3 - not Ready ###### 4 - createAndCGo ###### 5 - createAndWait ###### 6 -
destroy ###### W will clear out any previous entries by setting ciscoPingEntryStatus = 6
(destroy) snnpset -c¢ public Router_Source .1.3.6.1.4.1.9.9.16.1.1.1.16.333 integer 6 ###### W
start building the row by setting ciscoPingEntryStatus = 5 (createAndWait) echo snnpset -c
public Router_Source .1.3.6.1.4.1.9.9.16.1.1.1.16.333 integer 5 echo echo "###### Now |l et's set
the characteristics of the ping #######" ######H# Only the first three sets bel ow are REQU RED.
The rest have defaul t ###### val ues. #Set ciscoPingEntryOmer = any_nane snnpset -c public
Router_Source .1.3.6.1.4.1.9.9.16.1.1.1.15.333 octetstring any_nane #Set ciscoPingProtocol =1 =
ip (see CISCOTC VISM . ny C scoNetworkProtocol) snnpset -c public Router_Source
.1.3.6.1.4.1.9.9.16.1.1.1.2.333 integer 1 #Set ciscoPingAddress = #.#. #.#--take Renpte_Dest's ip
& convert each octet to hex snnpset -c public Router_Source .1.3.6.1.4.1.9.9.16.1.1.1.3.333
octetstringhex “AB 44 76 67" #Set the packet count to 20 (ci scoPi ngPacket Count) snnpset -c
public Router_Source .1.3.6.1.4.1.9.9.16.1.1.1.4.333 integer 20 #Set the packetsize to 100

(ci scoPi ngPacket Si ze) snnpset -c¢ public Router_Source .1.3.6.1.4.1.9.9.16.1.1.1.5.333 integer
100 echo echo "##### Now let's verify that the ping is ready to go and |aunch it #######" #Get
ci scoPi ngEntryStatus and nmake sure it is now equal to 2. This means # notlnServi ce which
indicates that we're ready to go. snnpget -c public Router_Source
.1.3.6.1.4.1.9.9.16.1.1.1.16.333 # Set ciscoPingEntryStatus = 1 to tell it to activate. snnpset
-c public Router_Source .1.3.6.1.4.1.9.9.16.1.1.1.16.333 integer 1 echo echo "##### Let's | ook
at the results. #####" snnpwal k -c¢ public Router_Source .1.3.6.1.4.1.9.9.16.1.1.1 echo echo
"##### Now that we' ve gotten the results, let's destroy the row #####" snnpset -c public
Router_Source .1.3.6.1.4.1.9.9.16.1.1.1.16.333 integer 6
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http://tools.cisco.com/Support/SNMP/do/BrowseMIB.do?local=en&mibName=CISCO-PING-MIB
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